Awarde After A Bound	9 Examination Gloves for Various County Depart of as Follows by Color: ction Medical & Dental Supply, LLC Free Medical, LLC Schein, Inc.	ments		ter Action I Dental Supp Camby	ly, LLC		Bound	Tree Medic Dublin, Ol	,	
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item #	Boxes Per Case	Unit Price	Total Per Case
1	Vinyl Glove, Non-Sterile, size Large, 4 mil. or County approved equal	26	5700090	10	\$2.50	\$25.00	111419	10	\$2.19	\$21.90
	Nitrile Glove, Powder-Free, Textured Grip, size Small, 5 mil. or County approved equal	2	A16A11	10	\$3.87	\$38.70 *	295201	10	\$10.09	\$100.90
	Nitrile Glove, Powder-Free, Textured Grip, size Medium, 5 mil. or County approved equal	3	A16A12	10	\$3.87	\$38.70 *	295202	10	\$10.09	\$100.90
4	Nitrile Glove, Powder-Free, Textured Grip, size Large, 5 mil. or County approved equal	3	A16A13	10	\$3.87	\$38.70 *	295203	10	\$10.09	\$100.90
5	Nitrile Glove, Powder-Free, Textured Grip, size X-Large, 5 mil. or County approved equal	2	A16A14	10	\$3.87	\$38.70 *	295204	10	\$10.09	\$100.90
	Nitrile Glove, Powder-Free, Textured Grip, size XX-Large, 5 mil. or County approved equal	2	A16A15	10	\$4.12	\$41.20 *	NO BID	10	\$0.00	\$0.00
	UL315S - Exam Glove, size Small, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12"	158	S-18043S	10	\$9.50	\$95.00	290315	10	\$10.65	\$106.50
	UL315M, Exam glove, size Medium, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	46	UL-315-M	10	\$9.50	\$95.00	290316	10	\$10.65	\$106.50
9	UL315L, Exam glove, size Large, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	100	UL-315-L	10	\$9.50	\$95.00	290317	10	\$10.65	\$106.50

Awarde After Ad Bound	By Examination Gloves for Various County Departs and as Follows by Color: ction Medical & Dental Supply, LLC Free Medical, LLC Schein, Inc.	nents		ter Action I Dental Supp Camby	ly, LLC		Bound	Tree Medic Dublin, Ol		
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item #	Boxes Per Case	Unit Price	Total Per Case
	UL315XL, Exam glove, size X- Large, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	116	UL-315-XL	10	\$9.50	\$95.00	290318	10	\$10.65	\$106.50
11	Exam glove, size 2X- Large, comparable to Microflex Ultra One #UL315 or 14 mil glove, Powder Free, Textured Fingers, 12" Length. Or County approved equal.	6	PIP-2550/XXL	10	\$14.94	\$149.40	NO BID	10	\$0.00	\$0.00
12	Thickster Latex 6602-20 Exam glove, size Medium, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	161	6602	10	\$18.97	\$189.70 *	NO BID	10	\$0.00	\$0.00
13	Thickster Latex 6603-20 Exam glove, size Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	355	6603-20	10	\$18.97	\$189.70 *	NO BID	10	\$0.00	\$0.00
14	Thickster Latex 6604-20 Exam glove, size X-Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	400	6604	10	\$18.97	\$189.70 *	NO BID	10	\$0.00	\$0.00
15	Thickster Latex 6604-20 Exam glove, size 2X- Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff	250	PIP-2550/XXL	10	\$14.94	\$149.40	NO BID	10	\$0.00	\$0.00
16	MK296S-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Small, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	54	MK-296-S	10	\$9.50	\$95.00	1015-29601	10	\$10.35	\$103.50
	MK296M-Microflex Midknight, Black, Powder- Free, Nitrile Standard Exam Glove, size Medium, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	288	MK-296-M	10	\$9.50	\$95.00	1015-29602	10	\$10.35	\$103.50

Awarde After Ad Bound	19 Examination Gloves for Various County Departr of as Follows by Color: ction Medical & Dental Supply, LLC Free Medical, LLC Schein, Inc.	ments		ter Action I Dental Supp Camby	ly, LLC		Bound	Tree Medic Dublin, Ol		
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item #	Boxes Per Case	Unit Price	Total Per Case
18	MK296L-Microflex Midknight, Black, Powder- Free, Nitrile Standard Exam Glove, size Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	652	MK-296-L	10	\$9.50	\$95.00	1015-29603	10	\$10.35	\$103.50
19	MK296XL-Microflex Midknight, Black, Powder- Free, Nitrile Standard Exam Glove, size X-Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	947	MK-296-XL	10	\$9.50	\$95.00	1015-29604	10	\$10.35	\$103.50
20	Micorflex Midknight - MK296 Black, Powder-Free Nitrile Standard Exam Glove, size 2X-Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16.	354	MK-296-XXL	10	\$9.50	\$95.00	1015-29605	10	\$10.35	\$103.50
	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Small- length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil.	15	93862070	10	\$17.97	\$179.70 *	1015-62070	10	\$16.59	\$165.90
22	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Medium- length 300 mm, cuff 3.1 mil, palm 4.7mil, finger 6.3 mil.	25	93862080	10	\$17.97	\$179.70 *	1015-62080	10	\$16.59	\$165.90
23	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	50	93862090	10	\$17.97	\$179.70 *	1015-62090	10	\$16.59	\$165.90
	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size X-Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	45	93862100	10	\$17.97	\$179.70 *	1015-62100	10	\$16.59	\$165.90
25	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (clongated cuff) size XX-Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	25	93862110	10	\$17.97	\$179.70 *	1015-62110	10	\$16.59	\$165.90

^{*}Corrected calculations based on unit price

Awardo After A Bound	89 Examination Gloves for Various County Departments et as Follows by Color: ction Medical & Dental Supply, LLC Tree Medical, LLC Schein, Inc.		Elite	Windy City Streamwoo			First O	ption Medic Bowie, MI	110	
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item #	Boxes Per Case	Unit Price	Total Per Case
1	Vinyl Glove, Non-Sterile, size Large, 4 mil. or County approved equal	26	NO BID	10	\$0.00	\$0.00		10		
2	Nitrile Glove, Powder-Free, Textured Grip, size Small, 5 mil. or County approved equal	2	MDS192084	10	\$5.00	\$50.00 *		10		
3	Nitrile Glove, Powder-Free, Textured Grip, size Medium, 5 mil. or County approved equal	3	MDS192085	10	\$5.00	\$50.00 *		10		
4	Nitrile Glove, Powder-Free, Textured Grip, size Large, 5 mil. or County approved equal	3	MDS192086	10	\$5.00	\$50.00 *		10		
5	Nitrile Glove, Powder-Free, Textured Grip, size X-Large, 5 mil. or County approved equal	2	MDS192087	10	\$5.00	\$50.00 *		10		
6	Nitrile Glove, Powder-Free, Textured Grip, size XX- Large, 5 mil. or County approved equal	2	484805	10	\$5.00	\$50.00 *		10		
7	UL315S - Exam Glove, size Small, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12"	158	485601	10	\$10.50	\$105.00 *		10		
	UL315M, Exam glove, size Medium, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	46	5653125	10	\$10.50	\$105.00 *		10		
9	UL315L, Exam glove, size Large, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	100	5653153	10	\$10.50	\$105.00 *		10		

Awarde After A Bound	By Examination Gloves for Various County Departments as Follows by Color: ction Medical & Dental Supply, LLC Tree Medical, LLC Schein, Inc.		Elite	Windy Cit Streamwoo			First (Option Medic Bowie, MI		
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item #	Boxes Per Case	Unit Price	Total Per Case
10	UL315XL, Exam glove, size X- Large, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	116	5653154	10	\$10.50	\$105.00 *		10		
11	Exam glove, size 2X- Large, comparable to Microflex Ultra One #UL315 or 14 mil glove, Powder Free, Textured Fingers, 12" Length. Or County approved equal.	6	N/A	10	\$10.50	\$105.00 *		10		
12	Thickster Latex 6602-20 Exam glove, size Medium, Powder- Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	161	NO BID	10	\$0.00	\$0.00 *		10		
13	Thickster Latex 6603-20 Exam glove, size Large, Powder- Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	355	NO BID	10	\$0.00	\$0.00		10		
14	Thickster Latex 6604-20 Exam glove, size X-Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	400	NO BID	10	\$0.00	\$0.00		10		
15	Thickster Latex 6604-20 Exam glove, size 2X-Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff	250	NO BID	10	\$0.00	\$0.00		10		
16	MK296S-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Small, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	54	NO BID	10	\$0.00	\$0.00		10		
17	MK296M-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Medium, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	288	NO BID	10	\$0.00	\$0.00		10		

Awarde After A Bound	89 Examination Gloves for Various County Departments et as Follows by Color: ction Medical & Dental Supply, LLC Tree Medical, LLC Schein, Inc.		Elite	Windy City Streamwoo	_		First (Option Medic Bowie, MI		
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item #	Boxes Per Case	Unit Price	Total Per Case
18	MK296L-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	652	NO BID	10	\$0.00	\$0.00		10		
19	MK296XL-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size X-Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	947	NO BID	10	\$0.00	\$0.00		10		
20	Micorflex Midknight - MK296 Black, Powder-Free Nitrile Standard Exam Glove, size 2X-Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16.	354	NO BID	10	\$0.00	\$0.00		10		
21	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Small- length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil.	15	1015-62070	10	\$16.35	\$163.50 *		10		
22	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Medium- length 300 mm, cuff 3.1 mil, palm 4.7mil, finger 6.3 mil.	25	1015-62080	10	\$16.35	\$163.50 *		10		
23	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	50	1015-62090	10	\$16.35	\$163.50 *		10		
24	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size X-Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	45	1015-62100	10	\$16.35	\$163.50 *		10		
25	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size XX-Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	25	1015-62110	10	\$16.35	\$163.50 *		10		

^{*}Corrected calculations based on unit price

Elite Windy City Cleaning - total incorrect due to changing boxes per case to 50 or 100 on all items - see Remarks / Exceptions on last page

Award After A Bound	89 Examination Gloves for Various County Departments ed as Follows by Color: action Medical & Dental Supply, LLC Tree Medical, LLC Schein, Inc.]	Henry Sche Melville,				line Industr Northfield,		
Item		Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item#	Boxes Per Case	Unit Price	Total Per Case
1	Vinyl Glove, Non-Sterile, size Large, 4 mil. or County approved equal	26	NO BID	10	\$0.00	\$0.00	CUR9226	10	\$4.95	\$49.50
2	Nitrile Glove, Powder-Free, Textured Grip, size Small, 5 mil. or County approved equal	2	NO BID	10	\$0.00	\$0.00	MDS192084	10	\$4.95	\$49.50
3	Nitrile Glove, Powder-Free, Textured Grip, size Medium, 5 mil. or County approved equal	3	NO BID	10	\$0.00	\$0.00	MDS192085	10	\$4.95	\$49.50
4	Nitrile Glove, Powder-Free, Textured Grip, size Large, 5 mil. or County approved equal	3	NO BID	10	\$0.00	\$0.00	MDS192086	10	\$4.95	\$49.50
5	Nitrile Glove, Powder-Free, Textured Grip, size X-Large, 5 mil. or County approved equal	2	NO BID	10	\$0.00	\$0.00	MDS192087	10	\$4.95	\$49.50
6	Nitrile Glove, Powder-Free, Textured Grip, size XX- Large, 5 mil. or County approved equal	2	NO BID	10	\$0.00	\$0.00	484805	10	\$4.95	\$49.50
7	UL315S - Exam Glove, size Small, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12"	158	NO BID	10	\$0.00	\$0.00	485601	10	\$8.20	\$82.00
8	UL315M, Exam glove, size Medium, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	46	5653125	10	\$10.00	\$100.00	ICRUL315M	10	\$10.80	\$108.00
9	UL315L, Exam glove, size Large, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	100	5653153	10	\$10.00	\$100.00	ICRUL315L	10	\$10.80	\$108.00

Awarde After A Bound	89 Examination Gloves for Various County Departments ed as Follows by Color: ction Medical & Dental Supply, LLC Tree Medical, LLC Schein, Inc.		1	Henry Sche Melville,				line Industr Northfield,		
Item		Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item #	Boxes Per Case	Unit Price	Total Per Case
10	UL315XL, Exam glove, size X- Large, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	116	5653154	10	\$10.00	\$100.00	ICRUL315XL	10	\$10.80	\$108.00
11	Exam glove, size 2X- Large, comparable to Microflex Ultra One #UL315 or 14 mil glove, Powder Free, Textured Fingers, 12" Length. Or County approved equal.	6	NO BID	10	\$0.00	\$0.00	NO BID	10	\$0.00	\$0.00
12	Thickster Latex 6602-20 Exam glove, size Medium, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	161	NO BID	10	\$0.00	\$0.00	NO BID	10	\$0.00	\$0.00
13	Thickster Latex 6603-20 Exam glove, size Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	355	NO BID	10	\$0.00	\$0.00	NO BID	10	\$0.00	\$0.00
14	Thickster Latex 6604-20 Exam glove, size X-Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	400	NO BID	10	\$0.00	\$0.00	NO BID	10	\$0.00	\$0.00
15	Thickster Latex 6604-20 Exam glove, size 2X-Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff	250	NO BID	10	\$0.00	\$0.00	NO BID	10	\$0.00	\$0.00
16	MK296S-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Small, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	54	5655752	10	\$8.17	\$81.70	NO BID	10	\$0.00	\$0.00
	MK296M-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Medium, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	288	5657365	10	\$8.17	\$81.70	NO BID	10	\$0.00	\$0.00

Awarde After A Bound	19 Examination Gloves for Various County Departments at as Follows by Color: ction Medical & Dental Supply, LLC Free Medical, LLC Schein, Inc.		1	Henry Sche Melville,				line Industr Northfield,		
Item		Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item #	Boxes Per Case	Unit Price	Total Per Case
10	MK296L-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	652	5651031	10	\$8.17	\$81.70	NO BID	10	\$0.00	\$0.00
	MK296XL-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size X-Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	947	5650811	10	\$8.17	\$81.70	NO BID	10	\$0.00	\$0.00
20	Micorflex Midknight - MK296 Black, Powder-Free Nitrile Standard Exam Glove, size 2X-Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16.	354	5654216	10	\$8.17	\$81.70	NO BID	10	\$0.00	\$0.00
21	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Small- length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil.	15	7003982	10	\$12.80	\$128.00	NO BID	10	\$0.00	\$0.00
22	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Medium- length 300 mm, cuff 3.1 mil, palm 4.7mil, finger 6.3 mil.	25	7003983	10	\$12.80	\$128.00	NO BID	10	\$0.00	\$0.00
23	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	50	7003984	10	\$12.80	\$128.00	NO BID	10	\$0.00	\$0.00
	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size X-Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	45	7003985	10	\$12.80	\$128.00	NO BID	10	\$0.00	\$0.00
	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size XX-Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	25	7003986	10	\$12.80	\$128.00	NO BID	10	\$0.00	\$0.00

^{*}Corrected calculations based on unit price

Awardo After A Bound	89 Examination Gloves for Various County Departments ed as Follows by Color: action Medical & Dental Supply, LLC Tree Medical, LLC Schein, Inc.			Iini Wing U 1g Hills Esta			Rei	dy Medical Stow,	Supply, Inc OH	
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item #	Boxes Per Case	Unit Price	Total Per Case
1	Vinyl Glove, Non-Sterile, size Large, 4 mil. or County approved equal	26	Diamond IF48	10	\$2.99	\$29.90	P359404	10	\$2.91	\$29.10
2	Nitrile Glove, Powder-Free, Textured Grip, size Small, 5 mil. or County approved equal	2	Diamond IF52	10	\$4.99	\$49.90	P359022	10	\$7.55	\$75.50
3	Nitrile Glove, Powder-Free, Textured Grip, size Medium, 5 mil. or County approved equal	3	Diamond IF52	10	\$4.99	\$49.90	P359023	10	\$7.55	\$75.50
4	Nitrile Glove, Powder-Free, Textured Grip, size Large, 5 mil. or County approved equal	3	Diamond IF52	10	\$4.99	\$49.90	P359024	10	\$7.55	\$75.50
5	Nitrile Glove, Powder-Free, Textured Grip, size X-Large, 5 mil. or County approved equal	2	Diamond IF52	10	\$4.99	\$49.90	P359025	10	\$7.55	\$75.50
6	Nitrile Glove, Powder-Free, Textured Grip, size XX- Large, 5 mil. or County approved equal	2	Diamond IF52	10	\$5.45	\$54.50	177402	10	\$7.55	\$75.50
7	UL315S - Exam Glove, size Small, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12"	158	Microflex Ultra One #UL315	10	\$11.00	\$110.00	UL-315-S	10	\$11.44	\$114.40 *
8	UL315M, Exam glove, size Medium, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	46	Microflex Ultra One #UL315	10	\$11.00	\$110.00	UL-315-M	10	\$11.44	\$114.40 *
9	UL315L, Exam glove, size Large, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	100	Microflex Ultra One #UL315	10	\$11.00	\$110.00	UL-315-L	10	\$11.44	\$114.40 *

Awardo After A Bound	89 Examination Gloves for Various County Departments ed as Follows by Color: ction Medical & Dental Supply, LLC Tree Medical, LLC Schein, Inc.			Iini Wing U ng Hills Esta			Rei	idy Medical Stow,	Supply, Inc.	
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item #	Boxes Per Case	Unit Price	Total Per Case
10	UL315XL, Exam glove, size X- Large, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	116	Microflex Ultra One #UL315	10	\$11.00	\$110.00	UL-315-XL	10	\$11.44	\$114.40 *
11	Exam glove, size 2X- Large, comparable to Microflex Ultra One #UL315 or 14 mil glove, Powder Free, Textured Fingers, 12" Length. Or County approved equal.	6	NO BID	10	\$0.00	\$0.00	NO BID	10	\$0.00	\$0.00
12	Thickster Latex 6602-20 Exam glove, size Medium, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	161	Diamond IF62	10	\$3.99	\$39.90	6602	10	\$32.34	\$323.40
13	Thickster Latex 6603-20 Exam glove, size Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	355	Diamond IF62	10	\$3.99	\$39.90	6603	10	\$32.34	\$323.40
14	Thickster Latex 6604-20 Exam glove, size X-Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	400	Diamond IF62	10	\$3.99	\$39.90	6604	10	\$32.34	\$323.40
15	Thickster Latex 6604-20 Exam glove, size 2X-Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff	250	Diamond IF62	10	\$4.49	\$44.90	6605	10	\$32.34	\$323.40
16	MK296S-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Small, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	54	MK296S	10	\$9.00	\$90.00	MK-296-S	10	\$11.42	\$114.20
17	MK296M-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Medium, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	288	MK296M	10	\$9.00	\$90.00	MK-296-M	10	\$11.42	\$114.20

Awarde After A Bound	9 Examination Gloves for Various County Departments d as Follows by Color: ction Medical & Dental Supply, LLC Tree Medical, LLC Schein, Inc.			Aini Wing Ung Hills Est			Rei	idy Medical Stow,	Supply, Inc	
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	Product Item #	Boxes Per Case	Unit Price	Total Per Case
18	MK296L-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	652	MK296L	10	\$9.00	\$90.00	MK-296-L	10	\$11.42	\$114.20
19	MK296XL-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size X-Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	947	MK296XL	10	\$9.00	\$90.00	MK-296-XL	10	\$11.42	\$114.20
20	Micorflex Midknight - MK296 Black, Powder-Free Nitrile Standard Exam Glove, size 2X-Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16.	354	MK296	10	\$9.00	\$90.00	MK-296-XXL	10	\$11.42	\$114.20
21	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Small- length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil.	15	No Info	10	\$16.50	\$165.00	93862070	10	\$17.96	\$179.60
22	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Medium- length 300 mm, cuff 3.1 mil, palm 4.7mil, finger 6.3 mil.	25	No Info	10	\$16.50	\$165.00	93862080	10	\$17.96	\$179.60
23	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	50	No Info	10	\$16.50	\$165.00	93862090	10	\$17.96	\$179.60
24	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size X-Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	45	No Info	10	\$16.50	\$165.00	93862100	10	\$17.96	\$179.60
25	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size XX-Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	25	No Info	10	\$16.50	\$165.00	93862110	10	\$17.96	\$179.60

^{*}Corrected calculations based on unit price

Q-24-789 Examination Gloves for Various County Departments Awarded as Follows by Color: After Action Medical & Dental Supply, LLC Bound Tree Medical, LLC Henry Schein, Inc.			Uweport, LLC Charlotte, NC				
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	
1	Vinyl Glove, Non-Sterile, size Large, 4 mil. or County approved equal	26	7121	10	\$2.99	\$29.90	
2	Nitrile Glove, Powder-Free, Textured Grip, size Small, 5 mil. or County approved equal	2	N52	10	\$9.80	\$98.00	
3	Nitrile Glove, Powder-Free, Textured Grip, size Medium, 5 mil. or County approved equal	3	N52	10	\$9.80	\$98.00	
4	Nitrile Glove, Powder-Free, Textured Grip, size Large, 5 mil. or County approved equal	3	N52	10	\$9.80	\$98.00	
5	Nitrile Glove, Powder-Free, Textured Grip, size X-Large, 5 mil. or County approved equal	2	N52	10	\$9.80	\$98.00	
6	Nitrile Glove, Powder-Free, Textured Grip, size XX- Large, 5 mil. or County approved equal	2	N52	10	\$9.80	\$98.00	
7	UL315S - Exam Glove, size Small, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12"	158	UL-315	10	\$11.90	\$119.00	
8	UL315M, Exam glove, size Medium, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	46	UL-315	10	\$11.90	\$119.00	
9	UL315L, Exam glove, size Large, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	100	UL-315	10	\$11.90	\$119.00	

Q-24-789 Examination Gloves for Various County Departments Awarded as Follows by Color: After Action Medical & Dental Supply, LLC Bound Tree Medical, LLC Henry Schein, Inc.			Uweport, LLC Charlotte, NC				
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	
10	UL315XL, Exam glove, size X- Large, Microflex Ultra One #UL315, Powder-Free, Textured Fingers, 12" Length, No Substitutions	116	UL-315	10	\$11.90	\$119.00	
11	Exam glove, size 2X- Large, comparable to Microflex Ultra One #UL315 or 14 mil glove, Powder Free, Textured Fingers, 12" Length. Or County approved equal.	6	UL-315	10	\$11.90	\$119.00	
12	Thickster Latex 6602-20 Exam glove, size Medium, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	161	NO BID	10	\$0.00	\$0.00	
13	Thickster Latex 6603-20 Exam glove, size Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	355	NO BID	10	\$0.00	\$0.00	
14	Thickster Latex 6604-20 Exam glove, size X-Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff, No Substitutions	400	NO BID	10	\$0.00	\$0.00	
15	Thickster Latex 6604-20 Exam glove, size 2X-Large, Powder-Free, Textured Fingers, 12" Length, 14 mil., beaded cuff	250	NO BID	10	\$0.00	\$0.00	
16	MK296S-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Small, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	54	MK-296	10	\$10.90	\$109.00	
17	MK296M-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Medium, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	288	MK-296	10	\$10.90	\$109.00	

Q-24-789 Examination Gloves for Various County Departments Awarded as Follows by Color: After Action Medical & Dental Supply, LLC Bound Tree Medical, LLC Henry Schein, Inc.			Uweport, LLC Charlotte, NC				
Item	Description	Appx. Usage (Boxes)	Product Item #	Boxes Per Case	Unit Price	Total Per Case	
18	MK296L-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	652	MK-296	10	\$10.90	\$109.00	
19	MK296XL-Microflex Midknight, Black, Powder-Free, Nitrile Standard Exam Glove, size X-Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16, No Substitutions	947	MK-296	10	\$10.90	\$109.00	
20	Micorflex Midknight - MK296 Black, Powder-Free Nitrile Standard Exam Glove, size 2X-Large, length 245 mm, cuff 3.1 mil, palm 4.7 mil, finger 5.5 mil, tensile strength 16.	354	MK-296	10	\$10.90	\$109.00	
21	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Small- length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil.	15	XTRA 93-862	10	\$16.90	\$169.00	
22	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Medium- length 300 mm, cuff 3.1 mil, palm 4.7mil, finger 6.3 mil.	25	XTRA 93-862	10	\$16.90	\$169.00 *	
23	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	50	XTRA 93-862	10	\$16.90	\$169.00	
24	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size X-Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	45	XTRA 93-862	10	\$16.90	\$169.00	
25	Microflex Midknight, Black, Powder-Free, Nitrile XTRA 93-862 (elongated cuff) size XX-Large, length 300 mm, cuff 3.1 mil, palm 4.7 mil, finger 6.3 mil	25	XTRA 93-862	10	\$16.90	\$169.00	

^{*}Corrected calculations based on unit price

Remarks & Exceptions:

After Action Medical & Dental Supply, LLC - Delivery/Service can be performed no later than 7-14 calendar days from receipt of order.

Bound Tree Medical, LLC - Delivery/Service can be performed no later than <u>2-3</u> calendar days from receipt of order.

ARO* In Stock Items

Elite Windy City Cleaning - Delivery/Service can be performed no later than 48 hours from date of order.

```
100 \text{ boxes per case} = $500.00
                                                    ($5.00 per box)
Item #2
             100 \text{ boxes per case} = $500.00
                                                    ($5.00 per box)
Item #3
Item #4
             100 \text{ boxes per case} = $500.00
                                                    ($5.00 per box)
              100 \text{ boxes per case} = $500.00
Item #5
                                                    ($5.00 per box)
              100 \text{ boxes per case} = $500.00
                                                    ($5.00 per box)
Item #6
             50 \text{ boxes per case} = \$525.00
                                                    ($10.50 per box)
Item #7
             50 \text{ boxes per case} = \$525.00
Item #8
                                                    ($10.50 per box)
Item #9
             50 \text{ boxes per case} = \$525.00
                                                    ($10.50 per box)
Item #10
              50 \text{ boxes per case} = \$525.00
                                                    ($10.50 per box)
Item #11
             50 boxes per case = $525.00
                                                    ($10.50 per box)
Item #21
              100 boxes per case = $1,635
                                                    ($16.35 per box)
              100 boxes per case = $1,635
                                                    ($16.35 per box)
Item #22
Item #23
              100 boxes per case = $1,635
                                                    ($16.35 per box)
              100 boxes per case = $1,635
                                                    ($16.35 per box)
Item #24
              100 boxes per case = $1,635
                                                    ($16.35 per box)
Item #25
```

Henry Schein, Inc. - Delivery/Service can be performed no later than <u>2-3</u> calendar days from receipt of order.

Medline Industries, LP - Delivery/Service can be performed no later than <u>2</u> calendar days from receipt of order.

Mini Wing USA - Delivery/Service can be performed no later than <u>5-15</u> calendar days from receipt of order.

First Option Medical Supply - NON RESPONSIVE (did not use Form of Proposal)

Reidy Medical Supply, Inc. - NON RESPONSIVE (did not fill out Form of Proposal correctly)

Uweport, LLC - NON RESPONSIVE (did not fill out Form of Proposal correctly)